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(Analytical Reading for Causes and Effects)
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Paragraph A

It is difficult for workers to find employment this year. One reason is
that many industries are not hiring new workers. In  additional economic
conditions. Another reason is that workers who once might have considered
early retirement are now staying at their job. Finally, other workers who used to
view their jobs as optional now must keep their position in order to meet their

minimum financial responsibilities.

Question

1. What statements does the author make about job opportunities ?

2. What evidence does the author use to support the statement ?
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Paragraph B
It is difficult for workers to find employment this year. As a result, many
recent college graduates are unemployed or are taking part-time jobs to meet
expenses. Unemployment among high schools graduates has meant that large
numbers of teen-agers are  seeking unemployment benefits. The unemployment
figures are the highest in decades. Finally, the Federal government must
contribute large amounts of money to support the growing numbers of people

who are receiving welfare assistance.
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Read the following important why Mike, a high school senior, was rejected by the
hiring supervisor at the local electronics company. Mike’s first problem was his poorly
prepared job application. Because he filled it during the bus rid to the interview, Mike
made many errors. The paper was filled with erasures, crossings out ; and blank spaced.
Another reason was Mike’s poor appearance; he wore faded jeans and an old flannel shirt

to the interview. In addition, he was late, thereby making both himself and interviewer
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uncomfortable. As a result, Mike made a bad impression during the interview and never
had the opportunity to demonstrate his fine abilities.
nadau 3

1. What phrase in the first sentence signals a paragraph developed with causes?
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Example 1
Paragraph A

Many of my students have difficulty taking tests. For some, the test situation
causes great stress and tension. The minds of these students “ go blank “ when they
receive the test booklets. Other do not know how to study and, thus, come to the test ill-
prepared to answer the questions. Some students study correctly but do not follow
directions on test. They usually do not finish the exam. These are some of the factors that
contribute to the poor performance of certain students on tests.

Paragraph B



159

Many of my students have difficulty taking tests. As a result, they get poor grades
on their quizzes. They must, therefore, work harder in class to communicate their
understanding of the course content to me. In addition, they usually devote great periods
of time to writing term papers and reports, in the hope that these assignments will raise
their averages. Finally, many offer to do extra assignment in an effort to raise their grades.

The effects of doing poorly on even one quiz can be stressful to most students .

NedaU 4

1. In Paragraph A, what point of view about students does the author express?

2. Are the supporting statements in paragraph A causes or effects?
FaCES OF O ON 2.

3. In paragraph B, what point of view about students does the author express?

Example 2
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Paragraph A

There are several important reasons why Mike, a high school senior, was rejected
by the hiring supervisor at the local electronics company. Mike's first problem was his
poorly prepared job application. Because he filled it during the ride to the interview, Mike
made many errors. The paper was filled with erasures, crossing out, and blank
spaces.Another reason was Mike’s poor appearance; he wore faded jeans an old flannel
shirt to the interview. In addition, he was late thereby making both himself and the
interview uncomfortable. As a result, Mike made a bad impression during the interview

and never had the opportunity to demonstrate his fine abilities.

nagau 5 HnannauA I NsAalll

1. What general statement does the author make about Mike ?

Paragraph B
Mike's rejection by the hiring supervisor led to several changes in his attitude

toward seeking a job. He made an effort to have a well prepared application which he
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checked for its thoroughness and appearance. He was determined to look presentable,
and so he chose his clothing carefully the evening before the interview. Arriving late for the
first interview affected planning for the next one, he arranged for a ride to the plant and left
extra time for unexpected delays. As a result of his efforts, Mike arrived on time, looked
presentable, and appeared confident throughout the interview. The effect was so positive
to Mike’s attitude that he was able to demonstrate his abilities during the interview . As a

consequence of this efforts, Mike was offered a position at the plant.

NAFAU 6

1. What general statement does the author make about Mike ?

NAda 7
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Read each statement and the two possible conclusions that follow it. Based on information

in the statement, check the conclusion (s) that can be drawn logically from that statement.
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1. Henry has been late to class six times, absent four times, and has missed two of three
quizzes.
........... Henry is unconcerned about his grade in this class.

........... Henry enjoys the class.

2.There are no ways of knowing when we had crossed the border-no makings, no

border posts-but it must have happened sometime around midnight.

.......... The author is unfamiliar with the area.

.......... The author is traveling alone.

3.When | got back to the compartment, the only other passenger had awakened.

......... The other person had been sleeping.

......... The author is traveling by car.

4.Dr. Tobias, Chief of Surgery, requested clamps and sutures from the attending head
nurse. They both glanced at the clock and quickly finished closing the wound. They
smiled when they realized they had finished well within the critical time limit for such a
surgical procedure.

.......... The experienced surgeon and his nursing assistant performed the complicated
operation.

........... During the operation, each was aware of the time.

5.The instructor read Sam’s paper and saw that Sam had scored perfectly on the multiple-
choice, true-false, and fill-in-sections of the test. However, Sam had not finished the major
essay and had lost fifteen point on that section.

........... The instructor believes that Sam generally understands the work .

........... The instructor fails Sam.
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Passage |

The Buddha'’s analysis of the problem of suffering thus took him back to the point
of birth. Birth of a human person has taken place. According to the principle in terms of

which it has occurred, that person is liable to old age, sickness, and death. The Buddha
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was unwilling to dissociate birth from other occurrences, such as old age, sickness, and
death. His perspective did not lead him to believe that birth is the greatest good and death
the worse evil. For him, if death were to be viewed as suffering, then birth, without which
death could not take place, should be perceived in a similar way.
Passage I

The Buddha did not always describe the Dependent Origination cycle in one fixed
form (from beginning to end). The extended format was used in cases where he was
explaining the principle in general, but when he was addressing the particular problem, he
often applied it in reverse order, thus : aging and death-birth becoming-clinging-craving-
feeling-contact-six sense bases-body and mind consciousness-volitional impulses
ignorance. In other descriptions he may have begun at one of the intermediate factors,
descriptions he may have begun at one of the intermediate factors, depending on the
problem in question. For example, he might have started at birth (jati), feeling (vedana), or
at consciousness (vinnana), following the steps forward to arrive at ignorance (avijja). Or
he may have begun with some factor altogether different from the twelve links, which was
then worked into the Dependent Origination chain.
Passage llI

As far as individual action is concerned, karma is called mano — karma (mental
action) in that any deliberate human action originates from and my be often confined to
mere mental intention. Failure in the external fulfillment of the mental volitive intention will
confine the action to its original, though already morally imputable, pure mental nature.
However, insofar as the mental intention (mano —_karma) is externally manifested to others
through the act already mentioned above as vagvijnapti (or vacika — vijnapti = verbal
intimation), the human willing intention develops into an act of vacika — karma (verbal
action). And if — and when — such intention is physically executed by means of the motive
organs (kayikavijnapti —_indriyani), the mental intention materializes and thus attains its
target through an act of kayika — karma (corporeal or bodily karma). This last kind of karma
crowns the process whereby a morally imputable action is posited.
Passage IV

When there is no influence of desire or craving possessed inside, all human’s

actions will be accompanied with cautious consideration of the law of cause and effect,
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that is , the performance based on one’s intellect, for the benefits of every part concerned,
but as long as defilements or desires play their roles in commanding some people like
their slaves, those people will never know how to solve their problems or never be able to
extinguish their sufferings, neither inside nor outside sufferings generally, when the time of
solving problem comes, one tends to enlarge the scope of the problem or change the
main point of the causes, and so on. Therefore, instead of lessening the problem, or
extinguishing the suffering, he enhances the degree of the reaction or ventilates his

grievance to people around him as a revenge.
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